Testing Fermilab PoF system

In LAr VII
(Nov 25,2020)
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2l oad resistors

R,,; = 0.360,0.750,1.2,1.8 k2 Ryyaq = 20,30,40 k2



Results:

“ Voltage [Volts] Current [mA]

0.360 44.5 2.24
0.360 30 48.0 1.61
0.360 40 48.5 1.22
0.750 20 47.6 2.39
0.750 30 47.5 1.59
0.750 40 47.5 1.19
1.2 20 46.5 2.34
1.2 30 46.6 1.56
1.2 40 45.0 1.14
1.8 20 44.5 2.30
1.8 30 45.7 1.54
1.8 40 45.4 1.14

When we increase R_set resistors the boiling increased!



Current [mA] Voltage [V] Current [mA]

Voltage [V]

load”

Current [4-PPC, Rset:0.4kQ and R __ :19.9kQ)]

L
0 500

'l
1500

L L 'l 'l 'l
1000 2000 2500 3000 3500 4000

+19.9kQ]

Voltage Output [4-PPC, Rset:0.4kQ andR,,

L] SSTRRTS :

47 B b g o IEp ieeereee

46 Fmrrene

45 ; 1AM L. ...

44 ¥ 4.l O e [ i KN

43— ; : ;

Pb) I : :

10 500 1000 1500 5000 5500 3000 3500 4000

Tick

Current [4-PPC, Rset:1.2kQ and R, ,:19.9kQ]

—

Il Il 'l 'l L L L
500 1000 1500 2000 2500 3000 3500 4000

Voltage Output [4-PPC, Rset:1.2kQ and R, :19.9kQ]

465 FRTIT
1000

............... prrsirsiies FETTULTIITITTIY TIPITTLITIS

|
1500 2500 3000 3500

Current [mA]

Voltage [V]

Current [mA]

Voltage [V]

233

232

2.3

load"

Current [4-PPC, Rset:O.SkQ and R __ :19.9kQ]

242F

N
~
=

24

2.39

2.38

L 1 1 L
1000 1500 2000 2500 3000

Voltage Output [4-PPC, Rset:O.SkQ and R, :19.9kQ)]

1 1 1 1 1
0 500 1000 1500 2000 2500 3000 3500 4000

load”

Current [4-PPC, Rset:1.8kQ and R__.:19.9kQ]




Current [mA]

Voltage [V]

Current [mA]

Voltage [V]

load”
T

Current [4-PPC, Rset:0.4kQ and R __ :29.8kQ)]

1
0 500 1000 1500 2000 2500 3000

load

Current [4-PPC, Rset:1.2kQ and R __ :29.8kQ)]

H H H T -

1.57 3 I . SR

1565 F— %Mkl S _:

156f— M. LN | Sl 11D LN —

1555 F=rriieiiinns S LTI L T EXHIS TN A _:

155 FATOY PO | SPP YOI , ................ . ......................... _:
L L L L L L L

0 500 1000 1500 2000 2500 3000 3500 4000
Tick

Voltage Output [4-PPC, Rset:1.2kQ and R, :29.8kQ)]

i i i i i i i i
0 500 1000 1500 2000 2500 3000 3500 4000
Ti~lL

Current [mA]

Voltage [V]

Current [mA]

Voltage [V]

load”

Current [4-PPC, Rs e,(:0.8k3:) and R __:29.8kQ)]

16
1.598
1.596
1.594

1592 |-

159

i 1 i i i i i
500 1000 1500 2000 2500 3000 3500

Voltage Output [4-PPC, Rset:0.8kQ and R, :29.8kQ)]

0

1.535

1.525

1.515

1 1 1 1 1 1
500 1000 1500 2000 2500 3000 3500

load

Current [4-PPC, Rset:1.8kQ and R __ :29.8kQ)]

1000 2000 3000 4000

5000



Current [mA] Voltage [V] Current [mA]

Voltage [V]

1.22
1.215
1.21
1.205
1.2
1.195
1.19
1.185
1.18

o

Current [4-PPC, Rset:0.4kQ and R

load

:39.8kQ)]

500 1000 1500 2000 2500 3000 3500 4000

Voltage Output [4-PPC, Rset:0.4kQ and R, ,:39.8kQ]

FovCRA LI TR D CEEEE T EEECER TE CEECEE TR EEE ST T EEY OO PSP T PR CEEEE RSN R R SRR T CEETE T SR AT T e e

1 1 " 1 L - 1 L 1
500 1000 1500 2000 2500 3000 3500

Ioad:

Current [4-PPC, Rset:1.2kQ and R

39.8kQ)]

-
-
N

1138 F
1.136
1134 F
1132

113

Il Il 'l 'l 'l
1000 2000 3000 4000 5000 6000 7000

451

45

449

448

Voltage Output [4-PPC, Rset:1.2kQ and R, :39.8kQ)]

1 1 1 1 1
1000 2000 3000 4000 5000 6000 7000

Current [mA] Voltage [V] Current [mA]

Voltage [V]

load

Current [4-PPC, Rset:0.8kQ and R, __:39.8kQ)]

0 500 1000 1500 2000 2500 3000 3500 4000

Voltage Output [4-PPC, Rset:O.BkQ and R, :39.8kQ)]

i i i i 1 i
0 500 1000 1500 2000 2500 3000 3500 4000

load

Current [4-PPC, Rset:1.8kQ and R

:39.8kQ)]

115

1.148 || }
1.146 =}
1144 |}

1142 ||}

1 1 1 1 1 1
0 1000 2000 3000 4000 5000 6000 7000

Voltage Output [4-PPC, Rset:1.8kQ and R, :39.8kQ)]

0 1000 2000 3000 4000 5000 6000



